Stand 8/23

Ersatzteilliste TR24-HD

forstreich

maschinenbau

: . Forstreich
Forstreich Bezeichnung Art.Nr.
1 Federstahlblech TR24-AQ 003-1006
2 |seitliche Schutzplatte 2K 003-1015
3 | Linsenkopfschraube M5x10 008-1029
4 Schmiernippel M6 001-1012
5 |Klotz 003-1002
6 |Linsenkopfschraube M8x16 003-1009
7 | Druckkeil Kunststoff 003-1018
8 | Zylinderkopfschraube M8x30 004-1023
9 [Ersatzspindel komplett mit Lagerung und Alublock 004-2020
10 [ Gewindemutter 004-1004
11 | Zylinderkopfschraube M5x20 003-1008




